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02®
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earthquake.

(2) Parents working full time have no time to play with their
children.

(3) The church built 10 years ago was destroyed by the war.

(4) My sister Jenny studying at London Art School draws lovely
pictures.
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02 (1) The dog was barking at her with its tail raised.
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(2) | kept eating food with my mouth full.
(3) Chloe is standing on the beach with her hair blowing in the
wind.
(4) The soldiers took a break with guns on their shoulders.
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36 Furthermore[Moreover, Besides, Plus, What's more]
37 in accordance with 38 interesting 39 AZot=

40 fly
41 by adding not just[only] some weight but also drag to its lower end
42 allowing
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05 (1) diameter (2) oppose (3) proportion (4) gravity

06 spin 07 @ 08 ® 09 @

10 I'm curious about whether such a suit would be possible in real life
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14 the first successful manned flight technology 15 ® 16 ®
17 roar — roaring 18@ 19® 20 (1) using (2) O
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shaking so hard.

22® 23® 2L®

25 (1) with the singer singing and dancing
(2) with my eyes covered by hands

26 (1) locating — located (2) giving — given 27 ® 28®
29® 30 31 the wings 32 traveling
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34 This is because the air which[that] is blown out over the top of the
paper moves quickly

35@® 36®
37 Once the kite gets up in the sky where the wind is strong enough
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01® 02 in accordance with 03 ® 04 ® 05®
06 (g)ravity 07 ® 08 through 09 ©® 10@
110,® 12® 130@,®
14 I'm curious about why it’s blowing so hard. 15 ® 16®
17@® 180, ®
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04

05

19 (1) Nicholas lay on the couch with his eyes fixed on the ceiling.
(2) The light on the ceiling selected by the famous interior
designer is expensive.
20 (1) taking (2) sitting (3) carried
21 Hugo managed to finish the project with his birthday party
delayed.
22@ 23 (1) living 2) O 24®
25 (1) laid (2) raising (3) followed 26 ®
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30 Opposed to that force is drag, which is the air pushing the

27@ 280

airplane back.
31 320
34 You can see for yourself how the force of lift works.
36 ® 37 @ where ® pulling ©is

33 as it creates lift

35 why — because
38 @ 39®
40 Without the hole, it would not be easy to control.

41® 420 43® 44 ® 45 the bird
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01 Have you ever wondered what makes a kite fly, or what a kite and an

airplane have in common?

02 The truth is that they both rely on the same science — the science of
flight.

03 There are four main forces involved in flight: lift, weight, thrust, and
drag.

04 Lift is created by the difference in air pressure between the air flowing
over an airplane’s wings and the air flowing under them.

05 Lift is opposed by weight, which is the force of gravity that is constantly
pulling the airplane down.

06 If the amount of lift is greater than the amount of weight, the airplane
will rise.

07 At the same time, thrust is created by the airplane’s engines and
propellers pushing the airplane forward.

08 Opposed to that force is drag, which is the air pushing the airplane
back.

09 If thrust is greater than drag, the airplane will move forward.

10 The interaction between these four forces makes airplanes fly.

11 Airplanes are designed with these forces in mind.

12 The engines and propellers provide thrust to move airplanes forward.

13 The wings are shaped so that air has to travel faster over them than
under them.

14 According to Bernoulli’s principle, an increase in the speed of air results
in a decrease in pressure.



15 Thus, air traveling faster creates lower pressure above the wings, and
the higher pressure under the wings pushes the airplane up, creating
lift.

16 You can see for yourself how the force of lift works.

17 Cut a strip of paper about 4 cm wide.

18 Hold one end of the strip near your lips, and blow slowly and evenly
over the paper.

19 The other end of the strip will rise.

20 This is because the air blown out over the top of the paper moves
quickly, so its pressure is lower than the still air under the paper.

21 The still air, with a higher pressure, pushes the paper upward into the
lower pressure air.

22 A Kkite flies in the same way as an airplane does.

23 To make a kite fly, it is sometimes necessary to run with it behind you.

24 This creates lift and pushes the kite up.

25 Once the kite gets up in the sky where the wind is strong enough, you
can stop running, and the kite will fly.

26 Instead of engines and propellers, the tension from someone pulling on
the kite’s string provides thrust for a kite.

27 For a kite to remain flying, the amount of lift needs to be equal to the
amount of weight so that those forces balance each other.

28 Likewise, thrust and drag must also be equivalent.

29 Bangpaeyeon, the most popular Korean kite, looks simple, but is the
toughest of all kites flown in Korea.

30 The rectangular kite is traditionally made from five bamboo sticks and
is covered with traditional Korean paper.

311t is always made so that the width and length are in a 2-by-3
proportion.

32 Unlike kites in other countries, it has a circular hole in the center, with
a diameter half the width of the kite.

33 What this hole does is control the air.

34 The push of air on the front of the kite is greatly reduced because some
of the wind passes through the hole to the back.

35 This allows you to turn the kite quickly.

36 Without the hole, it would not be easy to control.

37 In addition, the kite is not easily damaged by strong wind.

38 As you can see from the example of the Kite, things we use every day
often act in accordance with interesting principles of science.

39 Make sure you think about these principles at work in your daily life.

40 Atail is sometimes added to a kite.

41 It can help make a kite fly more stably by adding not just some weight
but also drag to its lower end.

42 The tail should have the right length, though.

43 Adding a short tail, for example, a 10 cm tail, will make the kite spin
and roll around a lot.

44 Adding a longer tail, such as a 100 cm tail, can help the kite fly well,
allowing it to go high without rolling very much.

45 Our ancestors knew all this and made the tail the right length.
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01 For their final project, students in Ms. Nam’s English class are giving

p.117~121

group presentations about Korean culture.

02 Before we start, guess what this is!

03 This is a team sport.

04 It used to be an Olympic event.

05 Stepping forward means your defeat.

06 Players use a long rope.

07 Yes, the answer is juldarigi or tug of war.

08 This is the topic of our presentation.

09 You all must have played this game at least once because it is juldarigi
that often highlights a school sports day.

10 | still remember the tension | felt just before starting to pull.

11 The moments of joy and disappointment were also unforgettable.

12 However, this isn’t just a school sport.

13 In 2015, juldarigi was added to UNESCQO’s Intangible Cultural Heritage
list under the heading of Tugging Rituals and Games.

14 As we researched this cultural heritage, we learned a lot of new and
interesting facts.

15 Nobody knows exactly when the juldarigi tradition started in Korea, but
our ancestors must have performed it for hundreds of years.

16 The first historical record appeared in Donggungnyeojiseungnam
(1481).

17 The book says that it was widely popular in the middle and southern
parts of Korea where rice farming was common.

18 Juldarigi was regarded not just as a sport but also as a ritual.

19 In the juldarigi ritual, a series of actions were usually performed in the
same way: making the ropes, holding ceremonies, tugging the ropes,
and staging special events after the game.

20 Juldarigi might have been a perfect way to help people cooperate and
promote the harmony and unity of the community.

21 In Korea, many towns have cherished this tradition, and some towns,
such as Gijisi, Yeongsan, Samcheok, Gamnae, and Uiryeong, have
developed it into exciting festivals.

22 Look at this slide.

23 What do the ropes look like?

24 Juldarigi ropes vary in shape and design from region to region.
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25 The rope used in Yeongsan and Gijisi juldarigi, with smaller ones
attached to it, looks like a giant centipede.

26 The rope used in Gamnae juldarigi is made to look like a crab in order
to express the participants’ wish to catch more crabs.

27 After the game is over, people in some areas cut the rope into smaller
pieces and bring them home.

28 They throw the pieces onto the roof or hang them on the gate of their
home.

29 Some people believe that these ropes can bring a good harvest, health,
and peace to their families.

30 Interestingly, Gijisi juldarigi ropes are believed to help couples have a
child, cure backaches, and bring good luck to the families that own them.

31 Last April, | took part in the Gijisi Juldarigi Festival, held in Dangjin,
Chungcheongnamdo.

32 At first, | couldn’t believe my eyes.

33 The size of the rope was unbelievable.

34 It was about 200 meters long and one meter thick, weighing over 40
tons.

35 Thousands of people gathered and pulled the “centipede” rope to win.

36 Even though both teams tried their best, it was my team that won.

37 Actually, which team wins is not that important.

38 By tradition, participants are divided into two teams by township: one
team from susang, the northern area, and the other from suha, the
southern area.

39 They say that the country will be peaceful if the former team wins, and
that it will have a good harvest if the latter wins.

40 | was happy because | learned that | helped bring a good harvest!

41 1t was wonderful to experience traditional Korean culture in the spirit of
cooperation.

42 Most of all, it was fun.

43 Now, what does juldarigi mean to you?

44 While preparing our presentation, we learned that juldarigi isn’t unique
to Korea or other Asian countries.

45 However, Korean juldarigi rituals reflect our history and culture and
have contributed to the harmony and unity of communities.

46 What is important is for us to inherit and further develop our traditional
Juldarigi for future generations.
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01 Have you ever wondered what makes a kite fly, or what a kite and
an airplane have in common?

02 @ —that, ® —is 03 makes the airplane fly

04 (A) weight (B) lift (C) drag (D) thrust

05 The wings are shaped so that air has to travel faster over them
than under them.

06 (A) lower (B) higher 07 decreases

08 O — The other, ® — where, @ — provides

09 (1) the air blown out over the top of the paper
(2) 0| #1=mE €0l 20{% 37|

10 it is sometimes necessary to run with it behind you

11 (1) EE0| ME ZHE Te & UTE L2 539 L0| Z0tofF &
(2) =21t &20| SSHoF &

12 The Science of Flight Applied to Both a Kite And Airplanes

13 still 14 ® — flown, @ — which

15 it were not for the hole

16 circular hole in the center, controls, damaging

7 (1) five bamboo sticks (2) traditional Korean paper

(3) turn the Kkite quickly

18 Uniqueness

200—~

21 allowing it to go high without rolling

22 (A) stability (B) length (C) added

23 has to do with how electricity works

19 diameter
(to) make, ® — made

24 electric shock
25 voltage difference between a power line and ground
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01 ® — be, @ — were

02 it is juldarigi that often highlights a school sports day

03 (1) victory — defeat (2) Tangible — Intangible 04 heritage

05 might have been a perfect way to help people cooperate and
promote the harmony and unity of the community

06 (1) should — must (2) despised — cherished

07 (a) (0)rigin (b) (role

08 (A) commonl[popular] (B) a series of actions

09 ® — attached, @ — them

10 vary in shape and design from region to region

11 (a) smaller pieces (b) people in some areas
() Gijisi juldarigi ropes

12 are believed to bring a good harvest, health, and peace to their
families

13 The Belief That the juldarigi Rope Provides a Special Power for
People Who Has It

14 ® held @ is © preparing

15 8tE0| Z0|= <f 2000|HIAL,
0| ALk,

SH= 10/H, 2A= 40ES 7| W2

16 Despite — (Even) Though, was won — won

17 What is important is for us to inherit and further develop our
traditional juldarigi for future generations.

18 It looked like a centipede.

19 (1) uncompetitive (2) cooperation

21 (a
(b

20 suha
bring a good harvest to the country
bring peace to the country
22 (1) O MIA M=~ CHSIE JHA(SHT

(2) ECt2|7|7t A 22| ZEE =5 25t
23 @ is dedicated ® included
25 a country could send more than one team to the Olympics
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)
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(3) The girl’s room decorated with spooky things is not scary at all.
12 (1) crossed (2) spilled (3) visiting
13 (1) named (2) covered (3) called
14 (1) surrounding — surrounded (2) unlocking — unlocked
15® 16 @
18 (1) with his tongue hanging out (2) with their paintings evaluated
190 20® 21® 22® 23® 24 @
25® 26 ®
27 If it were not for the hole

17 surprising — surprised

28 allowing it to go high without rolling very much
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07 The traffic is bumper to bumper on the road.
08 I'm curious about why we can’t hear any sound in space.
09 @ 10@
11 (1) The key lost by her was found on the sofa by me.
(2) Students coming for the volunteer work picked up the trash on
the street.
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